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=iz | 411100 1 0
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=& | 414010 0 4
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F= % | 414040 0 0
F= % | 414041 0 0
Tz | 414042 0 0
F= % | 414043 0 0
F= % | 414044 0 0
F= % | 414045 0 0




FL& FE (127 25p|12% 26 p (127 27 P |12 28 P | R A% | R4
T=F | 414046 0 0
FT= % | 414047 0 0
F= % | 414048 0 0
F= % | 414049 0 0
F=% | 414050 0 0
F=% | 414051 0 0
F= % | 414052 0 0
T=F | 414053 0 0
Fz % | 414055 0 0
=% | 414056 0 3
Fz % | 414057 0 1
=% | 414058 0 0
=% | 414059 0 0
F=% | 414060 0 0
F=% | 414061 0 0
F= % | 414062 0 0
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=% | 414069 0 0
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Tz iz | 414078 |% T T T 12 1
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F=€ | 414136 1 0
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F =% | 412072 T 2 3
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B =iz | 413089 0 0
W= % | 415012 6 2
M=% | 415013 2 3
M= % | 415015 1 5}
M= % | 415017 1 3
M= | 415021 0 4
W= % | 415023 | 4 3
M= E | 415024 0 5
M= & | 415026 0 0
M= E | 415027 0 3
m= & | 415032 1 5
=2 | 415034 1 0
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W= | 415040 0 4
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